Table 4: New calculation of ratio between the repulsion calculated by Rutherford and the real repulsion between U238 and He4, by comparing the old Coulomb force F = KQq/d2 with the new Coulomb force F = KQq/dx = FOP+FMED+FCR. 
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See eq. (23) of "Mathematical Confirmation for

Nuclear Properties K(0)=K(Ca)=1/2K(Si)=1/2K(Fe) ", publi- F=KQq/d?
shed by SFI Nuc. Sci. 2:4 1 1,48107/1,012x107= _1,4229
ing 47,104 by 32,4929
z The value 47,104 is calculated from F= KQq/d? , by A=47,1-32,49= 14,6
5 considering that the velocity 3x10’m/s (of the He4 when it
35 leaves the Po212) in the Coulomh

35 repulsion, as supposed by Rutherford. Therefore in the

37 calculation of the value 32,4929 it is considered that the
38| Hed s at rest ({ toward the U238).

29 If the He4 would be moving with V= 3x107m/s toward the

“"l U238, the repulsion would be 32,4929x1,4229= |,
justifying why Rutherford supposed that the repulsiombetween  d=310%m s the shorter distance where (according
43| U238 and He4 was following the Coulomb law F=KQaq/d?" to Rutherford's calculations) there is comprovation

that repulsion U238-Hed follows old Coulomb's law




